PHYSICS

BOOKS - HC VERMA

FORCE AND ACCELERATION

Question Bank

1. Find the values of F7 and F3 in example 3.3.

° View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hMQrgsei2F0s

2. A cube of edge length 5 cm is placed inside
a liquid, The pressure at the centre of a face is
12Pa. Find the force exerted by the liquid on

this face.

o View Text Solution

3. A bullet of mass 20 g moving with a speed
of 120 m/s hits a thick muddy wall and

penetrates into it. It takes 0.03 s to stop in the


https://dl.doubtnut.com/l/_Do3Ttt2myiNH
https://dl.doubtnut.com/l/_77WFtF7EJ47j

wall find the force exerted by the bullet on the

wall,

° View Text Solution

4. An unbalanced force acts on a body. The

body

A. must remain at rest

B. must move with uniform velocity

C. must be accelerated

D. must move along a circle


https://dl.doubtnut.com/l/_77WFtF7EJ47j
https://dl.doubtnut.com/l/_GlogMdDOqj6r

Answer: C

o View Text Solution

5.1f a body is not accelerated.

A. no force acts on it

B. no unbalanced force acts on it

C. the resultant force is not zero

D. a single force acts on it

Answer: B


https://dl.doubtnut.com/l/_GlogMdDOqj6r
https://dl.doubtnut.com/l/_XGdLabGgKVNH

° View Text Solution

6. If no force acts on a body, it will

A. get deshaped

B. move with increasing speed

C.either remain at rest or move in a

straight line

D. break

Answer: C

| e |


https://dl.doubtnut.com/l/_XGdLabGgKVNH
https://dl.doubtnut.com/l/_TB06SShI5eOR

& View Text Solution I

7. By applying a force of 1IN, one can hold a

body whose mass is approximately equal to

A.100 mg

B.100 g

C.1kg

D. 10 kg

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_TB06SShI5eOR
https://dl.doubtnut.com/l/_txsDVzO0iBrQ

8. The force of friction between two bodies is

A. parallel to the contact surface

B. perpendicular to the contact surface

C.inclined at 30° to the contact surface

D. inclined at 60° to the contact surface

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_txsDVzO0iBrQ
https://dl.doubtnut.com/l/_FRAdm7pnfxnL
https://dl.doubtnut.com/l/_PyJmSogLEu1U

9. A coin flicked across a table stops because

A. no force acts on it

B. it is very heavy

C. the table exerts a frictional force on it

D. the earth attracts it

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_PyJmSogLEu1U

10. The speed of a falling body increases

continuously. This is because

A. no force acts on it

B. it si very light

C. the air exerts a frictional force on it

D. the earth attracts it

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_WcEwfjpHZfcY
https://dl.doubtnut.com/l/_vsmokzNJOyVd

1. Which of the following has the largest

inertia ?

A.Apin

B. An inkpot

C. Your physics book

D. Your body

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vsmokzNJOyVd

12. When a bus starts suddenly, the

passengers standing on it lean backwards in

the bus. This is an example of

A. Newton's first law

B. Newton's second law

C. Newton's third law

D. none of Newton's laws

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_udsco9G5ngNH

13. A force of a given magnitude acts on a

body . The acceleration of the body depends

on the

A. mass of the body

B. volume of the body

C. density of the body

D. shape of the body

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_mC2UMqIlDQGM

14. If a constant force acts on a body initially

kept at rest, the distance moved by the body

in time is proportional to

At

B. t2

C.¢

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_vKJR1JyuTYAK

15. The momentum of a body of given mass is

proportional to its

A. volume

B. shape

C. speed

D. colour

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_gof6mWfkSQik
https://dl.doubtnut.com/l/_rQ61WjXQ0YSJ

16. The mass and speed of four bookies are:

A | kg 10 m/5
B 2kg Om/s
C Ikg Bm/s
D dkg 7m/s

The body with the largest magnitude

momentum is

A A

B.B

C.C

D.D

of


https://dl.doubtnut.com/l/_rQ61WjXQ0YSJ

Answer: D

o View Text Solution

17. The principle of conservation of linear

momentum states that the linear momentum

of a system

A. cannot be changed

B. cannot remain constant

C.can be changed only if internal forces

act


https://dl.doubtnut.com/l/_rQ61WjXQ0YSJ
https://dl.doubtnut.com/l/_Rl1x2YsAxqjm

D.can be changed only if external forces

act

Answer: D

o View Text Solution

18. Action-reaction forces

A. act on the same body

B. act on different bodies

C. act along different lines


https://dl.doubtnut.com/l/_Rl1x2YsAxqjm
https://dl.doubtnut.com/l/_2l2Nxt1x16OJ

D. act in the same direction

Answer: B

° View Text Solution

19. Consider a porter standing on a platform
with a suitcase which presses his head with a
force of 200 N. take this force as action. The

reaction force is exerted by

A.the head on the suitcase


https://dl.doubtnut.com/l/_2l2Nxt1x16OJ
https://dl.doubtnut.com/l/_4arJZLBahJcw

B. the earth on the suitcase

C.the earth on the poter

D. the suitcase on the earth

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_4arJZLBahJcw
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20.

figure 3.E1 shows the displacement -time
graphs for the four particles, A, B,C and D. An
unbalanced force is acting on the particle

A A

B.B

C.C


https://dl.doubtnut.com/l/_1f6N8Y20JhqS

D.D

Answer: D

o View Text Solution

21. Pascal is a unit of

A. pressure

B. force

C. linear momentum

D. energy


https://dl.doubtnut.com/l/_1f6N8Y20JhqS
https://dl.doubtnut.com/l/_eGNBput66aXM

Answer: A

o View Text Solution

22.The buoyant force on a body acts in a

A. vertically downward direction

B. vertically upward direction

C. horizontal direction

D. direction between the horizontal and

the vertical


https://dl.doubtnut.com/l/_eGNBput66aXM
https://dl.doubtnut.com/l/_SkgGUi3WaTgj

Answer: B

o View Text Solution

23. A body floats in a liquid if the buoyant

force is

A. zero

B. greater than its weight

C.less than its weight

D. equal to its weight


https://dl.doubtnut.com/l/_SkgGUi3WaTgj
https://dl.doubtnut.com/l/_oDfhR42dDkbT

Answer: D

o View Text Solution

24. Mark the statement true (T) or false (F):The
speed of a particle remains constant. This

means that no unbalanced force acts on it.

o View Text Solution

25. Mark the statement true (T) or false (F):No

unbalanced force acts on a particle. The speed


https://dl.doubtnut.com/l/_oDfhR42dDkbT
https://dl.doubtnut.com/l/_RpfMMW4mgtwO
https://dl.doubtnut.com/l/_XWEkI8rs5UyV

of the particle must remain constant.

o View Text Solution

26. Mark the statement true (T) or false (F): A
spring can pull an object as well as push an

object.

o View Text Solution

27. Mark the statement true (T) or false (F):A

string can pull an object as well as push an


https://dl.doubtnut.com/l/_XWEkI8rs5UyV
https://dl.doubtnut.com/l/_RPAwh5x7FmbO
https://dl.doubtnut.com/l/_DuG89EtbnGXv

object.

o View Text Solution

28. Mark the statement true (T) or false (F):A
particle attracts the earth with a force equal

to the weight of the particle.

o View Text Solution

29. Mark the statement true (T) or false (F): A

ball moving on a horizontal surface stops


https://dl.doubtnut.com/l/_DuG89EtbnGXv
https://dl.doubtnut.com/l/_CgFKD8qg4aNL
https://dl.doubtnut.com/l/_AfdC6K6ZrrUw

because on the force of friction.

o View Text Solution

30. Mark the statement true (T) or false (F):It is
easier to catch a fast-moving ball with the

arms kept nearly still.

o View Text Solution

31. Mark the statement true (T) or false (F): A

particle starts from rest under the action of a


https://dl.doubtnut.com/l/_AfdC6K6ZrrUw
https://dl.doubtnut.com/l/_Nln7rTIB61Db
https://dl.doubtnut.com/l/_wWFVRwaQNNRi

constant force. The graph of distance versus

time is a straight line.

° View Text Solution

32. Mark the statement true (T) or false
(F):Action and reaction forces act on the same

object.

° View Text Solution



https://dl.doubtnut.com/l/_wWFVRwaQNNRi
https://dl.doubtnut.com/l/_wghgndvfAdqu

33. Mark the statement true (T) or false (F):Any
pair of equal and opposite forces forms an

action -reaction pair.

o View Text Solution

34. Mark the statement true (T) or false (F):
The preseuros it all poinic in a liquid at the

same horizontal plane are equal.

o View Text Solution



https://dl.doubtnut.com/l/_MdX3C9gmtr4g
https://dl.doubtnut.com/l/_vv9K9E3ytYGa
https://dl.doubtnut.com/l/_jMeDJHVBWSw5

35. Mark the statement true (T) or false (F):
After diving into a swimming pool, as one

moves up, the pressure of water incrasos.

o View Text Solution

36. Mark the statement true (T) or false (F):

Pascal and — represent the same unit.
m

° View Text Solution



https://dl.doubtnut.com/l/_jMeDJHVBWSw5
https://dl.doubtnut.com/l/_Jo6r2kQJ6UkF

37. Mark the statement true (T) or false (F):

Pressure has magnitude as well as direction.

° View Text Solution

38. A boy is wearing a shirt of mass 150 g. How
much force is he exerting on the dress ? Do

not forget ot state the direction.

° View Text Solution



https://dl.doubtnut.com/l/_oe1cP6pjItaP
https://dl.doubtnut.com/l/_Ubk7MW8zbcKy

39. Your physics book has a mass of 400 g. It is
kept on a horizontal table. Taking g
— 10m /s?, find the force (both magnitude
and direction )exerted by the table on the

physics book

o View Text Solution

40. Your physics book has a mass of 400 g. It is
kept on a horizontal table. Taking g

— 10m /s?, find the force (both magnitude


https://dl.doubtnut.com/l/_E3jniJVtOLow
https://dl.doubtnut.com/l/_248FAkjtqZBE

and direction )exerted by ,the physics book on

the table.

o View Text Solution

41. Your physics book has a mass of 400 g. It is
kept on a horizontal table. Taking g
— 10m /s?, find the force (both magnitude
and direction )exerted by, the earth on the

physics book.

o View Text Solution



https://dl.doubtnut.com/l/_248FAkjtqZBE
https://dl.doubtnut.com/l/_7DtMT4a3qsne
https://dl.doubtnut.com/l/_Mr5TyFNsUlj7

42. Your physics book has a mass of 400 g. It is
kept on a horizontal table. Taking g
— 10m /s?, find the force (both magnitude
and direction )exerted by the physics book on

the earth.

° View Text Solution

43. A force of 10 N acts on a particle of mass

0.4 kg. Find the acceleration of the particle.

° View Text Solution



https://dl.doubtnut.com/l/_Mr5TyFNsUlj7
https://dl.doubtnut.com/l/_ANFc9hhbwhWj

44. When a body is dropped from a height , it
falls with an acceleration of 10m /s”. If its
mass is 250 g, how much force is exerted on it

downwards ? Who exerts this force on the

body ?

o View Text Solution

45. Figure 3.E2 shows the velocity -time graph

for a particle moving in a fixed direction. Find


https://dl.doubtnut.com/l/_uFn4jpEjHoBj
https://dl.doubtnut.com/l/_89teaLYl09qa

the acceleration of the particle.

Velocity (m/s)
@ o

0 1 9 3 Time (seconds)
Fig. 3.F2

o View Text Solution

46. A force produces an acceleration of

1.5m /s® in a disk. Three such disks are tied


https://dl.doubtnut.com/l/_89teaLYl09qa
https://dl.doubtnut.com/l/_qfrnSaFhiamp

together and the same force is applied on the

combination. What will be the acceleration ?

° View Text Solution

47. A constant force of 12 N acts on a body for
4s. Find the change in the linear momentum

of the body.

° View Text Solution



https://dl.doubtnut.com/l/_qfrnSaFhiamp
https://dl.doubtnut.com/l/_Vj4GZ5IO65gQ

48. Two particles A and B of masses 20 g and
10 g and 20 g respectively fall vertically. At a
given time, the speed of particle A is 12 m/s
and that of B is 15 m/s. Find the total linear

momentum of the system of the two particles.

o View Text Solution

49. Two bodies A and B of mass 150 g and 250

g respectively are approaching each other.


https://dl.doubtnut.com/l/_QK2XmBGMFEdB
https://dl.doubtnut.com/l/_yTuzshPtzDkI

Both of the total linear momentum of the

system of the two particles.

° View Text Solution

50. A boy weighing 30 kg is riding a bicycle
weighing 50 kg. If the bicycle is moving at a
speed of 9 km/h towards the west, Find the
linear momentum of the bicycle -buoy system

in Sl units.

° View Text Solution



https://dl.doubtnut.com/l/_yTuzshPtzDkI
https://dl.doubtnut.com/l/_n5DPcWzlglt2
https://dl.doubtnut.com/l/_hQxt8wxlH2Q5

51. A force of 12 N is uniformly distributed over

2

an area of 120cm~”. Find the pressure in

pascals.

° View Text Solution

52. How much force should be applied on an

area of 1em? to get a pressure of 12 Pa ?

o View Text Solution



https://dl.doubtnut.com/l/_hQxt8wxlH2Q5
https://dl.doubtnut.com/l/_41xizMHfjYuM

